B4 AALIC K DR i B

[ R348 A 53] Bl SR 27 5

ARSEATBOE N T AR B N AR R AR

T, B UM O
AR OB

AL R DA RO D
AT 5 SO e

AR LIz A

ST ST O KA
B OMERT

BHIATF ST OENE

— A - R OR)

(e a7 2R F i)

TEfi#S

L

DWBEANOGE

BARBEND Ky

E%%gﬂﬁﬁ

FiiE DXy

INGIREIS 2 8

AR 3 AR EE LS B i o R Ik
P R B SR

SRR 4 B
AR e A
i

G
U PP 6 — 5 — 1

R3E8H 24 H

(B) URV VS —v
FLRX R 2 —4—24

3010001088790

— R AL
(R BaFl 77 2)

7, 220,

961

7,150, 0001

99. 0%

[UR= 2 2=71] UREHETHEIK
%)%i%ﬁ%?% CRESAT H I H 10 [

KR ZAEH
() URzIa=71
FUHEE Vv 7 — 5

sk R
FURHR A XTG4 — 2 6 —
5

HRIBHES A6 H

AAKEE AT (BR)
FOCH T KRNI 1 — 9

3010001033375

AR
(AT

126, 025,

617M

115, 128, 868

91. 4%

=7 4] UREEEHK
IRy 7 B A 1 3

o

() URz2I2=7 1
FUHE RV F— R
s K

HURED R KA 4 — 2 6 —

5

R3E8H 6 H

A S AR (BR)
SRS TR P AR 1 — 9

3010001033375

— R AL
(R aFl 77 =)

85,417,

543

81, 990, 9051

96. 0%

[UR= 3
R
Hh)

=7 1] UREH{EEHEIK
CNESRT =T H i Hefth 6 [

HZEH

() URzIa=71
FURHEE VR —R
HURAR R

FURH R XTG4 — 2 6 —
5

R3S 6 H

ARG AT (BF)
FOCH T K BN 1 — 9

3010001033375

AL
(AT

60, 893,

065

55, 674, 488F]

91. 4%

=7 11 UREHEEHK
WEWRES (VA —ETBEERIA TS
U —fi1 1 [ 4

HHZIE

() URz2I2=7 1
BUAHE W F— R
s K
SRR KA 4 — 2 6 —
5

F3E8H 6 H

A S AR (BR)
SRS T P AR 1 — 9

3010001033375

— R AL
(R aFl 77 =)

20, 166,

544

19, 443, 5761

96. 4%

[UR= 3 2=71] URSHETHEIK
SRR (8 B T )

HRZACH

() UR=I2=74
iy —R
AR b

TR R 1 — 10—
1

HRIBHES A6 H

ARG AT (BF)
FOCH T KBS 1 — 9

3010001033375

— AL
(ke Bt 77 2)

46, 634,

583F]

44, 568, 301

95. 6%

= U R G MK

[UR=I2=F 1]
R (SR T B [ 7 [ )

HHZIE
() URz2I2=7 1
B F Ve F—R

A Ehf
FORH A 1 — 1 0 —
1

R3E8H 6 H

HAKS SR (BF)
SRS T P AR 1 — 9

3010001033375

— R AL
(R aFl 77 =)

48, 785,

2061

46, 919, 0601

96. 2%

[UR= 2 2=71] URGH{ETHIK
”s‘)’é’ri%ﬁ%% RSP T AR H bt 1
8

S s

() URaI2=74
AV S — R
AR G

A 5
FURHR B XA 1 — 1 0 —
1

RIS 6 H

AAKEE AT (BF)
FOCH T KRN 1 — 9

3010001033375

AL
(AT

52, 148,

431H

50, 124, 455

96. 1%




B4 AALIC K DR i B

[ R348 A 53] Bl SR 27 5

ARSEATBOE N T AR B N AR R AR

DWBEANOGE
T, HR X N o AL R DA RO D : " . LHRARTF S O R4 y 9 — IS - RA S ORI T
RO i ot SRR LT 1 st BGRTFH OBENE (b A S i 0> e Tt it L TR i
ARBEAD KXY L JEAL - ISR
B8 O K5y
o
Rugsepegek | B UR2 3227 6 A AT () — e AL
~J B [ 9 [A Tk Ehh S34ESH6H ﬁﬁ%%ﬁmwmmam _ g [3010001033375 %ngﬁﬁ) 64, 667, 23211 62, 142, 059 96. 1%
FORH XA 1 — 1 0 —
1
i T
[UR=3 UR SFEHEEMEHR UR= =271 A -
%%ﬁﬁ%@(tm P T Kif 0 iR Hft %?%}%“i/’ & R3S H6 [ %ﬁ%@%%g%ﬁ%w179 3010001033375 <é§§§%%) 31,885, 8011 30,618,320/  96.0%
i?ﬁ EE?M%I*IO*
%ﬁfiﬁ
[UR= I a2=5 ] URSESHPA UR=a%227+4 HABA RS () — B AL
M%«%M%rﬁi (8 B 1 3 [ H) Z?@%éu\t vH—R S3ESH6H BEECE T AR T BRI 1 — 9 3010001033375 %ngﬁﬁ) 114, 851, 0781 108, 871, 6431 94. 8%
FRE LTI — 5
1 Bk %g%ﬁ%
=7 4] UR% st 7 URZIa2=7~4 v o
JUR=S 5 R ST AAREIEEE () — 4 AL
Mslmmf(gwﬂl 4 v K L Z§Q%§u1/9 R BRIBESA6H RO T AR gy 1 — o |3010001033375 (%é%mﬁﬁ) 130, 015, 185M) 123,160, 316F9 94. 7%
SR Z AL L — 5
At
[UR= S 2=7 1] URESHEEHK UR=a%227+4 HARAEERE () — i AL
ARSI 5 fE = S BROEION R gy 1 o 2010001033375 sy 98,242, 0567 93,201, 79701 94.9%
iv%@@ﬁwm 1—
[ 1 SR %QTTZ
UR= 3 a2=7 1] URGHETHI UR=ZI2=7 1 PON 5 s
%ﬁﬁﬁ%%(ﬁ#ﬁ@ﬁﬂ4?@lsm izﬁgiwi/ﬁ 3 AFIBES A6 %?%2%%%@?%w179 3010001033375 (%K%ﬁ%&) 15,992, 6311 15, 373, 47911 96. 1%
FOHERE1 -7 17
[ ) MK %ﬁ%ﬂ%
UR=3I2=7+] UR E A UR2I2=74 o
S = e Sy HAKEEAER (KR — e ANL o,
E%% 5% (EHET2—F2U—f3H ig@%;mt/a £ SFsaE8H6H B ECE T CHB T BRI 1 — 9 3010001033375 (%é%mﬁﬁ) 11, 301, 2921 10, 833, 5071 95.9%
FOERSRE 1 —7—17
g
N, A e e URZIa=7~4 v o
UR=ZIa= UR (K KBNS — kR
Ak Ry b o O Ry~ FIFEAGH S I gy 1 — g [010001033575 it 60, 599, 5731 56,235, 7361 91.1%

AB
FOHEREL1 -7 17




B4 AALIC K DR i B

[ R348 A 53] Bl SR 27 5

ARSEATBOE N T AR B N AR R AR

AIBENOGE
T, HR X N o LRI L 5 DKL R D " . BT O KA 5 9 — A - SRS ORI o
AL R Ry A LT FERi RIITH BN ey S s T Tt wyem il S i
DEEBEADE S i TSAL + IS B
B8 O K5y
o
[UR= S = =7 ] URSESsagk | ), UR=S =270 AAKR A — A
P aiqmin s @fﬂ:rﬁ@16ﬁm§ ig@%%mt/ahﬁ HTNBESH6H §§%¥%%§$E%W179 3010001033375 (%%%ﬁ%&) 38,963, 15611 35,527,265[|  91.2%
FOERSRE 1 —7—17
T
[UR= 3 2 =7 ] URE§HEHA URZS==74 AARA AR (B —fiest
%%ﬁﬁ%%(&ﬂ@ﬂ@?@ﬂ)$ %y&égi/ﬁ 3 R3S H6 [ §§§¥kmxém%w1—9 3010001033375 (%é%%%%) 88, 702, 2181 85,337,630/  96.2%
FORHARXH L5 —2 -5
FER
[UR= S ==% 1] URF§HE UR=S A — A
s ;ﬁ:f—]."w_] ‘?ﬁ."«z’“ﬁkﬂi ﬁ?ﬁmiiu\t/&v—ﬁ AF3E8H6H %ﬁ%%ﬁ%@é@aw _ g [3010001033375 %’g?%?j% 77, 857, 6394 74, 983, 2001 96. 3%
i?#“ifiL?ﬁ—z—
T
[UR= S 2=7 1] URESEEHDA URZS==74 AARA A () — g
RN (SR — m@m2o%m) %y&é&i/ﬁ 3 A FI3ESH 6 H HERCH T AR B | — o |3010001083375 (%é%%%%) 78, 162, 9451 75,232,204 96.3%
FORHARXH L85 —2 -5
g
[UR =3 2=7 (] URSEEEIK UR= ST A —fir
m%‘ s ﬁjﬁjm_]z xmf 7 Ht%@&imt/&v—ﬁ AFBESH 10H %?%&?%%gﬂg?ﬁWl _ g |3010001033375 %’g?%?j% 123, 566, 737 118,760, 733F|  96.1%
HORH ST 2 — 34— 7
[UR 1 TR %(gé;l‘ez
a3 a2=7 4] URGEETHEE URZIa2=74
ey SE+ g § \ AAKAEAT () — s
E%%ﬁ%ﬁ(@iw REHH 1 6 [ k%w&iut/a £:3 HRIBHESA10H ek T R gy 1 — o |3010001033375 <%§§§%§) 109, 854, 541 105, 830, 6237 96. 3%
??ﬁ4mTEW2*34*7
(UR | UR SR | G R
23Ia2=74] UR e 73 UR=ZIa2=74 - YA
S i 7 > Z HAKEEAER (KR — e
E%% ¥H OHWELS EH il 1 5 g%@&imt/y E3 A48 A 10H B ECE T CHB T BRI 1 — 9 3010001033375 (%E%ﬁ%&) 104, 857, 2261 100, 939, 1031 96. 3%

FOLHERSL)ITHIERT 2 — 3 4 — 7




